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1. Inpeas, yellow seeds are dominant over green seeds. In a cross between two plants both heterozygous for (ﬂlﬁ, i 6(%“
seed color, the following was observed: \lla 4 Yld

yellow = 4400
green = 1624
What do you predict the expected phenotypic ratio to be?  “allaws * gﬂcex\
-
State a NULL hypothesis for this experiment: . < . .,
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Degrees of freedom (df) = \

Does the analysis support or reject the null hypothesis? (‘&\) ecks ( ° <.05

What does this mean in “real life” language? “Uine dh{'e erences Wb-: e O\O%Crve'd *
ovpected ofe top L ‘o e due to fanrdowv. Chance Olpne,.

2. In peas, smooth seeds are dominant over wrinkled seeds. In the P generation, a plant homozygous for smooth seeds is

crossed with a plant with wrinkled seeds. The resulting F, plants are crossed. The seeds of the observed F, generation were: S = ‘?Xﬂbouf\

smooth = 5474 Pl x PRV

wrinkled = 1850 ¥, =Se e <oxSa St
What do you predict the expected phenotypic ratio to be? M-. weia\ed
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Does the analysis support or reject the null hypothesis? Su.pe)({s ( ? > ' O%

What does this mean in “real life” language?
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3. Inaflowering plant, white flowers are dominant over red, and short plants are dominant over tall
plants. When two plants heterozygous for both traits were crossed, the resulting phenotypes were observed: \Nw SS L Wu:gs

white, short = 206

red, short = 83

white, tall = 65

red, tall = 30
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What do you predict the expected phenotypic ratio to be? 0{ % % ¥ \ hD!% vk el
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Degrees of freedom (df) = 3

Does the analysis support or reject the null hypothesis? SU Wapk (_ P > 05)
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4. Incorn, purple kernels are dominant over yellow, and smooth kernels are dominant over shrunken. The offspring below i
are the result of a true dihybrid cross. The F4 ear of corn has 381 kernels with the following types:

purple/smooth = 216
purple/shrunken = 79
yellow/smooth = 65

yellow/shrunken = 21

What do you predict the expected phenotypic ratio to be? G" 3.2 \ PUJ ph/‘.lYlD&Ur\ P"P& /"J"‘“"“’ua"‘
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Does the analysis support or reject the null hypothesis? SUP@(* (\0 > 06‘)
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What does this mean in “real life” language?
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5. Color blindness is a sex-linked trait in Wombats, A female who is a carrier of the color blind allele m rth amale whois
color blind. The phenotypes of their offspring are: @
Normal female = 132 \a \a
Color blind female = 124 K
Normal male = 126 X? Y b\,
Color blind male = 136 L AJ '“1 colerbls ,J
What do you predict the expected phenotypic ratio to be? State a \ l l \ ﬂD(‘MAJ tolor ol “;‘ 07’
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Does the analysis support or reject the null hypothesis? S Ppb ({'S ( ‘0
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What does this mean in “real life” language? D\'G-QM\M VUD W @b&(‘d\{og- M
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6. In cats, fur color is determined by the codominant, sex-linked alleles: black and orange. A calico female has several l| ters of
kittens with a black male. They produce the following offspring: X *® )(_ \{ 4 b\O-CK g

black female = 78
calico female 65 @6 @,ﬁ XB\LO-CGJ&(.O Q
black male :;; X Kg, J -blace o

orange male
What do you predict the expected phenotypic ratio to be? 15 l . \ xo Y _ orw
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Does the analysis suppart or reject the null hypothesis? r&\)e_ct ( P b‘ogef M& ou
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